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QUESTION 1

Click on the exhibit.

R1## show router ospf3 interface "toR35" databhase detail

05PF Link State Database (Detailed)

Interface Address:
Link State Id :
Sequence Ho .
Age :
fptions £
Link Local Addr
Ho of PIfxs
Prefix (1)
Oplives (1)

0.0.0.0 Ady Router Id : 1.1.1.1
4 LSA Type : Link
OxB0000055 Checksum : Dxeifc

91 Length : 44

-—R—-EW6& BEtr Priority : 1

FEB80: :216:4DFF:FE13:5CB1

1

2001:DB8:111:: /64

..« output omitted ...

What does the field "2001:DB8:111::/64" represent?

A. The router\\'s system address.

B. The next-hop prefix.

C. The interface\\'s global prefix.

D. The next-hop system address.

Correct Answer: C

QUESTION 2

What event causes an OSPF adjacency to change from \W'down\\' to \\'two way\\'?

A. The router receives a link-state update in response to a link-state request.

B. The router receives a Hello packet from its neighbor that contains its own router ID in the neighbor list.

C. The router receives a database description packet from its neighbor.

D. The router receives a link-state acknowledgement in response to a link-state update

Correct Answer: B




QUESTION 3
Which of the following best describes the features of Classless Inter-Domain Routing (CIDR)?

A. Automatic summarization and the use of IP addresses that use any number of bits for the network portion of the
address.

B. Manual summarization and the use of IP addresses that use any number of bits for the network portion of the
address.

C. Automatic summarization and the use of IP addresses that use a fixed number of bits for the network portion of the
address.

D. Manual summarization and the use of IP addresses that use a fixed humber of bits for the network portion of the
address.

Correct Answer: B

QUESTION 4

A default route for a client is also known as the:
A. Default path

B. Default gateway

C. Gateway path

D. Proxy ARP

Correct Answer: B

QUESTION 5

What are the default Hello and Dead timer intervals for OSPF on the Alcatel-Lucent 7750 SR?
A. 5 and 15 seconds

B. 10 and 30 seconds

C. 5 and 20 seconds

D. 10 and 40 seconds

Correct Answer: D

QUESTION 6
An interface has a MAC address of 24-16-4d-16-b5-3d. What link-local address will be assigned to this interface?

A. fe80::2416:4dff:fe16:b53d



B. fe80::2616:4dff:.fe16:b53d

C. ff80::2416:4dff:fe 16:b53d

D. ff80::2616:4dff:fe 16:b53d

E. fd80::2416:4dff.fe16:b53d

Correct Answer: B

QUESTION 7

Click the exhibit button.

"AiR3% show router route-table

Route Table [Router: Bass)

----- AN TEN TSN T RN

Dest Prafix Type Proto Age Pref
Maxt Hop{intertace Name) Matric

10.1.3.0/27 Local Loesl ©05d21h0%m ©
toR1 0

10.10.10.1/32 Remots OSPF  0Dh17Tm01s 10
10.1.3.1 100

10.40.10.3432 Local Local o©144di%h 0
system 0

No. of Routes: 3
AR ping 192.168.3.1 count 1

PING 192.163.3,1 56 data bytes

Mo route to destination. Address: 192,168.3.1, Router: Base

- 192.168.3.1 PING Statistics —--

I packet transmitted, O packets recaivad, 100% packet loss
TAL R

192.168.3.1 is a loopback interface on router R2 and is distributed to OSPF area 0, but the ping fails from router R3.
Which of the following is a possible solution to the problem?

A. Add the "originate-default-route" option in the NSSA area configuration on router R3
B. Add the "summaries" option to the NSSA area configuration on router R1

C. Make a static route on router R1 to 192.168.3.1

D. Make a default route on router R2

Correct Answer: B

QUESTION 8



Click on the exhibit.

Which of the following would you expect to see in router R4\\'s OSPF database?



Type Areald  LinkState Id Ady Rir Id Age Sequence Clsum

Router 00co 1010102 10.10.10.2 294  Ox8C000034 Oxdadb
Raouter 00CDO 1010104 1010104 81 0x8C000033 Oxe897
Metwarl 0.0CO 10244 10.10.104 663 Ox8COD0025 Onedfdd
Summary 00C0 10340 10.10,104 40 OxBC00000a 737b
Summary 00CO 192168.00 1010104 40 0x8C000001 Oxabfe
Router 0.0CA 1010103 1010103 37 08000005 Oxac12
Router 00CA 1010104 10.10.104 41 0x8C000004 (44
Metisicirk ancA Mma44 Mm10104 4R NxACO00001 (x4 899
Summary 0.0.LCA1 000D 1010104 41 OxBCO00005S 08205
No. of LSAs: 9

- B o o o o . e . e e P e . . T B . . . S o e e s . . 1 A o . . . . P s T . o o
CSFF Link State Database (Type @ Al
Type Arezld  Link State Id Adv Rir Id Age Sequence Chksum
Rauter 0000 1010102 10.10.10.2 381  OxG0000034 Oxdadb
Router 0000 1010104 10.10.104 168  (x80000033 8697
Network 0.0.0.0 1n244 10.10104 741 Ox80000025 Oxdfdd
Summary 0000 10340 1010104 128  0Ox8000000a Ox737b
Summary 0.00.0 192.168.1.0 1010104 28 Ox80000001 Ox8b03
summary 00.00 192.168.2.0 10.10.104 28 Ux80000001 0x900d
Router 0001 1010103 10.10.10.2 125 OxB80000005 Oxac12
Router 0001 1010104 1010104 129 (x80000004 D44
Netwarlk 0001 10344 1010104 134  Ox80000001 0x4899
Summary 0001 0000 1010104 129  Ox80000005 Ox82b5
No_of LSAs: 10

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: C




QUESTION 9

Which of the LSA types stay within an OSPF area and are not exported outside of the area? (Choose all that apply)
A. Router LSA

B. Network LSA

C. Summary Network LSA

D. Summary Router LSA

Correct Answer: AB

QUESTION 10

Which of the following TLV fields is included in an I1S-1S Hello packet?

A. Area addresses TLV Intermediate system neighbors TLV Authentication information TLV

B. Intermediate system neighbors TLV Area addresses TLV LSP entries TLV

C. The IP internal reachability information TLV Area Addresses TLV Authentication Information TLV

D. The IP external reachability information TLV Area addresses TLV Intermediate system neighbors TLV

Correct Answer: A

QUESTION 11

If routers R1 and R2 have a Level 1 and Level 2 IS-IS adjacency, which of the following statements is true? Choose two
answers.

A. Routers R1 and R2 are in different areas.
B. Routers R1 and R2 are in the same area.

C. Routers R1 and R2 will send a Level 1 Hello PDU and Level 2 Hello PDU, if the interface type between them is point-
to-point.

D. Routers R1 and R2 will send a Level 1 Hello PDU and Level 2 Hello PDU, if the interface type between them is
broadcast.

E. Routers R1 and R2 will send a Level 1/2 Hello PDU if the interface type between them is broadcast.

Correct Answer: BD

QUESTION 12

Which of the following best describes the function of an OSPF Type 4 LSA?



A. A Type 4 LSA is originated by an ABR to describe a route to an ASBR to routers outside the area.
B. A Type 4 LSA is originated by an ASBR to describe a route to itself to routers outside the area.

C. A Type 4 LSA is originated by an ABR that is connected to a stub area. The LSA is injected into the backbone area to
provide routing information.

D. A Type 4 LSA is originated by an ABR that is connected to a stub area. The LSA is injected into the stub area to
provide routing information.

Correct Answer: A
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